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September 24, 2012
Review:

Given csca —2 a €QIl, andtanb == ,b € QIII, find:
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Odd-Even Identities

cos(—x) = cosx , sin(—x) = —sinx , tan(—x) = —tanx
sec(—x) =secx , csc(—x) = —cscx , cot(—x) = —cotx

cos(-x)= cos(o-? -
= cos() s X + sin0sinx
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50. (0sRx = cos4x —sin 4x
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52. (€032 - cotx—|
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5. cos‘x -SiI;' X
2sinX COSX

— = cot2x

. oK _ _
LHS= O =COLIX=RHS

(0. sin2X-cotX = —cot X cos2x
RHS = -co‘tx() -2 sinz)<>

= —cotx + QS!'OZX Co't)(

- -Cotx + QsinX s+yX -COS ¥

Z-cotx + 25nXCasX :

= -cotx+Sin2x
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2. Sin4x = 4sixcosy - 4cosxsinx
LRS = Siﬂ2(2X>= 2 510X Cos Z¥
=2 (QSinX(OS% (co;x -5 in")b

= 4sinxcosx — 4 500x LOSX

= RHS

bt. 2cosx -cos:x -25i0 XCOSX + S '—(0522)(
RHS = (cw@ = (030X ¢os ¢ %
= (coé'x - & &)9 (2cogx - ))
= Jcos % -0k ~2SinYL0sK ASinY

= LHS
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bl. Sin%x = ‘1‘5\'Mc05)(-<6cosxsm5)(
LHS=5in2 (%)= 2sinlx (02X
= od @Ss'nxrosb( - 2sinZx 3

=4SINXCOSX — X si0°X 05 X

- RIS

(03. Sin3xsinx = 4giox—Fsic X

ool I
LHS =Sin@x+<) +siax |

=SINZXCOSX 4 032X SinY A Sinx
= (Zsimsa(oy*ébé'x-&@ﬁ(\x 1Sy
= QSINXCOS X + Si0X 05 X=SiaK ¥ Siny
=3 Sifx as‘g—&h‘x "'S'.’\X
=3snx 6—8‘7\35 — 50PK +5i NK
= 3sinx— 35in" X~ Siy X +SINX

,b/*l’ N
=RHS X Aa\ufb\“kw*f
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